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MARK SCHEME - GCSE URDU - WRITING - SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk
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Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’'s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Foundation Tier

Marks will be allocated in the following way at Foundation Tier:

Communication | Content | Quality of | Conveying Application of Total
language key grammatical
messages knowledge of
language and
structures
Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50
Question 01

For this question, students are required to write four sentences. Each sentence is marked according to

the following criteria. The maximum mark is 8.

[8 marks]
Mark Communication
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

The following indicative content is an example of the responses that students may give to this question.

2 marks 1 mark 0 marks
01.1 3542 H42S BIEES [2 marks]
R = =
| -
o1z | =0 ‘:j S ERRRR VY =) [2 marks]
Sa St 831 S
01.3 ) de JSails 1S3 Jsail [2 marks]
=
L OSH
= U4 S
01.4 = b LSS IS e [2 marks]
ox ok
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Question 02

For this question there are four compulsory bullet points, which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 40 words over the whole question. The number of words
is approximate and you must mark all work produced by the student.

[16 marks]
Content

Level | Marks | Response

5 9-10 | Afull coverage of the required information. Communication is clear.

A good coverage of the required information. Communication is mostly clear
but perhaps with occasional lapses.

A reasonable coverage of the required information. Communication is

3 56 generally clear but there are likely to be lapses.

5 3-4 A partial coverage of the required information. Communication is sometimes
clear but there are instances where messages are not conveyed.
A minimal coverage of the required information. Communication is often not

1 1-2 clear and there may be frequent instances where messages are not
conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level | Marks | Response

3 5.6 Uses a variety of appropriate vocabulary and grammatical structures.
Generally accurate.
Vocabulary and grammatical structures generally appropriate to the task,

2 3-4 . . .
with some attempt at variety. More accurate than inaccurate.

1 1-2 Vocabulary and structures used may be limited, repetitive or inappropriate.
There may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at
this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart from
that, the Content mark does not limit the mark for Quality of language.
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The following indicative content is an example of the response that students may give to this question.

.o L e Z . . L L
G SO B3 Goselie o0l ) 2 Gae e UsHer S A
A sl Cagd e G o el LS re S sty ) Sl U] S5 KL
eSS 2 s sl L L) o WS IS G gt 5. T e (S ol
e > e i Skl eae gy adse pelon i S S
.C\\MQEA

(50 words)
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Question 03

The translation is assessed for Conveying key messages (5 marks) and Application of grammatical
knowledge of language and structures (5 marks), as specified in the criteria below. The maximum mark
is 10. When awarding the marks, the student’s response across all five sentences should be considered
as a whole.

[10 marks]
Conveying key messages
Level | Marks | Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.

Application of grammatical knowledge of language and structures

Level | Marks | Response

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The I_anguage produced does not meet the standard required for Level 1 at
this tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Indicative content

The following indicative content is an example of a response which would be awarded full marks.

1 | My bedroom is small. ) Gsga 0 3aS |y
2 | I watch the television with my brother. -0 beSan 0.5 9l il =S e o
3 | At school I like Urdu and maths. -0 US e CGlaa 5 93 ) U J Sl e

| want to drink water because it is good g‘j é Caa "5‘-’}‘5 o u:"* L"‘:’ Lf'l:’ R
for my health. - Lea!

5 | We went to the market last Sunday. :\g J\j\-} &~ )5 J\ﬂ\ é@e-‘

Other reasonable alternative translations will also be accepted.
Exemplification of mark scheme

To exemplify the marking criteria for Conveying key messages and Application of grammatical
knowledge of language and structures, a range of exemplar student responses have been provided
below with a commentary.

Student 1

s Bsen o 5aS | e

052 S sl el S ey ) (e

-0 BLS Qi can 5l 93 ) (e JsSeul (e
=) 2 S a0 G585 Bls Ly L (e
=8O a S s ey

Conveying key messages = 5 marks
Application of grammatical knowledge of language and structures = 5 marks

All key messages are conveyed. Despite the misspellings of ‘maths’ and ‘health’, the student displays a
very good knowledge of vocabulary and the response is highly accurate.
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Student 2

-55‘}@ D)AS ‘J:\A

16503 055l gl il (2

-0 US iy Gl 5l 93 )) e J sSesl G

= e S S il SO eS s lila Ly (Gl e
R e S s ey

Conveying key messages = 4 marks
Application of grammatical knowledge of language and structures = 3 marks

Nearly all key messages are conveyed (wrong tense and omission of word ‘brother’ in sentence 2). The
response is not generally accurate given the use of English words, omissions and one inaccurate
possessive adjective. However, it is more accurate than inaccurate.

Student 3

-&‘}e D)AS ‘J.-.\A

S0 BeSan sl gl S Jler ) e
- sy A gae sl 93 ) e J Sl

lea) 2 S e o Uil U Gl e
A8k a Ll

Conveying key messages = 3 marks
Application of grammatical knowledge of language and structures = 2 marks

Most key messages are conveyed (no verb in first and fourth sentences but ideas are communicated,
messages just come through in second, third is wrong, the last sentence also communicates key
information). The response is generally inaccurate with limited knowledge of vocabulary and structures.
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Student 4

-&,}GA.:DJAS‘J:‘A
- 6 s (Al e
.J.Lu\_\.. ul.u; )j\ }JJ\

Conveying key messages = 2 marks
Application of grammatical knowledge of language and structures = 2 marks

Some key messages are conveyed. The first two sentences convey key messages despite the omission

of the verb in the first one. The other two sentences only convey some of the key messages. Again, the
response is generally inaccurate with limited knowledge of vocabulary and structures.

Student 5

Conveying key messages = 1 mark
Application of grammatical knowledge of language and structures = 1 mark

Few key messages are conveyed. The response is highly inaccurate and demonstrates a very limited
knowledge of vocabulary and structures — inaccurate or omitted verbs, no articles and unknown key
vocabulary.

10
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Question 04

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The

student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

Content

[16 marks]

Level

Marks

Response

5

9-10

A very good response covering all aspects of the task. Communication is
clear and a lot of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. . Communication is
mostly clear but perhaps with occasional lapses. Quite a lot of information
is conveyed. Opinions are expressed.

5-6

A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down.
Little information is conveyed. An opinion is expressed.

1-2

A limited response covering some aspects of the task. . Communication
is often not clear and there may be frequent instances where messages
break down. Very little information is conveyed. There may be no
opinions expressed.

The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the

other criteria are met.

11
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Quality of language

Level | Marks | Response

A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more serious
errors may occur, particularly in complex structures and sentences, but
the intended meaning is nearly always clear. The style and register are
appropriate.

Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to at
least two different time frames, although these may not always be

2 3-4 successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always
be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to
the needs of the task. Sentences are mainly short and simple or may not

1 1-2 be properly constructed. There may be frequent major and minor errors.
Little or no awareness of style and register.
0 0 The language produced does not meet the standard required for Level 1
at this tier.
Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart
from that, the Content mark does not limit the mark for Quality of language.

12
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The following indicative content is an example of the response that students may give to this question. It
demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
04.1

This is a possible response (indicative content):

iy G J Sl L) gmae o J Sl s do b 1S J Sl 2 e
db S8 (s 2 Ol 130 Sl 1S eSS Gae Sl 2 ey
Gis o8l S e A S Sy ileS @S S
Osh o Wl aas e sleS M) G o pllall IS S S
Sl 8 kS e JsSsl 2 e dl g5 BS (o2 000
o D g e S sheS alina Hen 0 L8 Llia o plails

03 Ula US Jisal &) e JsSesl (ol e Jl BIL

(91 words)
[16 marks]

Question
04.2

This is a possible response (indicative content):

R ansly (e 6ald S Ol laa ) an (e O sien (Sl
oo s 13 @ Sl Vs Al s e —u Sleadle o
o oS LS 5 e ol s el o 1S iy S
=S Ol S B leal G eme 5 b 55 i oSt
wgw:Jquduﬁewu\Mﬁ-’ & ) D &
S S8 e de B R g o A )l

s S G (S by e S oals S

(86 words)
[16 marks]

13
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However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met. To exemplify this, the following alternative indicative content is provided.

Either

or

Question
04.1

This is a possible response (indicative content):

S S S eme s Sl s A5 S
db S a Gl o Ol 130 SOV S dagS e JSl o e
e G003 s o B aas Gae sheS M) O SleS
IS Sl S sheS (e S 2 ey s ey - ULS
B e 5e S i e S sheS Calite e o0 LS Ll

-0 Wila U S Jsdd 2 ) e J Sl (sl (e Jls

[16 marks]

(91 words)

Question
04.2

This is a possible response (indicative content):

o nanile —gi K sl Gae old s e Osdien S A
S S Gae sl sl W3 1350 @i Sl s Al Sl ke
S e 5Ok B i GUSh e ala) el S
O 2 e LSl g8 el G S8 S s S pS K e
o o Jls IR 5 o BN s )l AL o )y (2
o e S S e S Gl sy o S S

(86 words)
[16 marks]

14
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Higher Tier
Marks will be allocated in the following way at Higher Tier:
Communication | Content | Quality of Conveying Application of Total
language key grammatical
messages knowledge of
language and
structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 12
Total 25 6 12 5 6 60
Question 01

Content

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]

Level

Marks

Response

5

9-10

A very good response covering all aspects of the task. Communication is
clear and a lot of information is conveyed. Opinions are expressed.

7-8

A good response covering all aspects of the task. . Communication is
mostly clear but perhaps with occasional lapses. Quite a lot of information
is conveyed. Opinions are expressed.

A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

3-4

A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down.
Little information is conveyed. An opinion is expressed.

A limited response covering some aspects of the task. . Communication
is often not clear and there may be frequent instances where messages
break down. Very little information is conveyed. There may be no
opinions expressed.

0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.

15
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Quality of language

Level | Marks | Response

A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more serious
errors may occur, particularly in complex structures and sentences, but
the intended meaning is nearly always clear. The style and register are
appropriate.

Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to at
least two different time frames, although these may not always be

2 3-4 successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always
be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to
the needs of the task. Sentences are mainly short and simple or may not

1 1-2 be properly constructed. There may be frequent major and minor errors.
Little or no awareness of style and register.
0 0 The language produced does not meet the standard required for Level 1
at this tier.
Notes

(@ A major error is one which seriously affects communication.

A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart from
that, the Content mark does not limit the mark for Quality of language.

16
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The following indicative content is an example of the response that students may give to this question. It
demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
01.1

This is a possible response (indicative content):

Ny s J Sl Wl gae o JsSal a5 b S JsSald 2 e
dhuﬂéeuua:d\—m 150 S S JieS e Sl 2l
o5 08 ZheS e o3 S dsSlon SleS <SS
uyhﬂmauuujh@ﬁ:»éxzbhumceu:u\lsciﬁ

S UsheS Gpe Sl 2l oo Heam o050 BS o2 G005 L)
S e S heS Galite e oo L8 Llie g lails SO
0 Wl ULS Jisal ) e s (onsl (e Jl B Ll o e

(91 words)
[16 marks]

Question
01.2

This is a possible response (indicative content):

S OS5 e 3l S Ol s o Osfie S A
BVESH PPN PRI 2 NY [ U NS P 7y .\
s g et Leal i 1S _ayy LS (e ol sl L8 130 O
Pt o 8 O (s 5 i sl a cnbleS LS
W 5 Ll e mwoans S osdh S0 5 K
Glde s gl A ) e ) O3 o L8 e QLSL LS
S oila G A S S8 e de KK e
e At O (S gl S

(86 words)
[16 marks]

17
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However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met. To exemplify this, the following alternative indicative content is provided.

Either

or

Question
01.1

This is a possible response (indicative content):

Ny G JSl e o JSa) sy di sl dsSal £ e
do S8 a Ul = Ol 1350 S S dieS (e ISl 2 ey
& 05 08 o B aan e oskeS A0 preon e
SN SOIS G sleS (e J Sl 2 ey Je Hem 05 BS
AR U o3y s hlie S sheS aline er o0 LS Llia

05 W LS Jad o) ae JsSal (o) (e Jls

[16 marks]

(91 words)

Question
01.2

This is a possible response (indicative content):

o Faaaile, ¢ 8 QS (e ol Upe Osdien S
S i S e el sl 135 G Sl 1 Al Sl ke
S e B Uk S i JESh e oaled BB Lea) G
0 2 e Sl 65 ea) o Sl S s nSS K e
o Jle BV R g0 oo B s 5l AR s 1y 09

o e S D e S Gl sy o S S

(86 words)
[16 marks]

18
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]

Content

Level | Marks | Response

An excellent response which is fully relevant and detailed, conveying a
5 13-15 | lot of information. Communication is clear with little or no ambiguity.
Opinions are expressed and justified.

A very good response which is almost always relevant and which
4 10-12 | conveys a lot of information. Communication is mostly clear but there are
a few ambiguities. Opinions are expressed and justified.

A good response which is generally relevant with quite a lot of
3 7-9 information conveyed. Communication is usually clear but there are some
ambiguities. Opinions are expressed and may be justified.

A reasonable response with some relevant information conveyed.
2 4-6 Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1 1-3 Communication may not be clear and there are instances where
messages break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.

19
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Range of language

Level | Marks | Response

Very good variety of appropriate vocabulary and structures. More
4 10-12 | complex sentences are handled with confidence, producing a fluent piece
of coherent writing. The style and register are appropriate.

Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing
a mainly fluent piece of coherent writing with occasional lapses. The style
and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences
2 4-6 are attempted, using appropriate linking words, often successfully. The
style and register may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short

1 1-3 and simple. Little or no awareness of style and register.
0 0 The range of language produced does not meet the standard required for
Level 1 at this tier.
Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy

Level | Marks | Response

Accurate, although there may be a few errors especially in attempts at

5 5 )
more complex structures. Verbs and tense formations are secure.

Generally accurate. Some minor errors. Occasional major errors, usually
4 4 in attempts at more complex structures. Verbs and tense formations are
nearly always correct.

Reasonably accurate. There are likely to be minor errors and there may
3 3 be some major errors, not only in complex structures. Verb and tense
formations are usually correct.

More accurate than inaccurate. The intended meaning is generally clear.
Verb and tense formations are sometimes correct.

There may be major errors and frequent minor ones, and the intended
1 1 meaning is not always clear. There is only limited success with verb and
tense formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from that,
the Content mark does not limit the mark for Accuracy.

20
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The following indicative content is an example of the response that students may give to this question. It
demonstrates a balanced coverage of the compulsory bullet points.

Either | Question | This is a possible response (indicative content):

02.1
e Ulpon Sl e Jlsd S and Calise (e agilla
Sl e Sl sl e S G st 2 50 90
) =2 En e S s sl oSl gy adise Gl
olai) pald I8 lie @il S lls 568 ) sl m S
i gl om i S5l S 4 s SOl Selm IS
Cd U 0s)oh e e Dl b 0 e il
U WS co ulela U el sl 2 (P B ue
30 s mde ) e Sl Sl o puisd ) el
O oy e S e J p 5 gseon e —w alaa a s
My iy —gne hadll de (S Jle tean Ko o Ul alal
o Al gls B ol g @ S ae Gl S )
e Bu Gea K o &) & S s 2
o= A Sopsheom eSO oy = e o
Sl w gy A3y ) e eseS s S
My mdiser g 2o an K Gae o ped o pusd S axilda
S =

(154 words)
[32 marks]

21
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or

Question
02.2

This is a possible response (indicative content):

G enae o O 052030 i S pe S s 58 e
Ao ny ey S de )y S i) 0w e

a2 U = O 1S dieS S (0 S 55 Ul = 2y D
=L Dsann Sl (o Aoy S b )l S S
Sed plyjfiote Subon Sl ol S pea s
=S oo S S S U 0 s s Ul oS
Sl (2 A Ulrom Gl oo 5 S o 3S05e
Ut = o o B S 568 e IS e o 23
| g il Can A83e | ey 5 Ul Sl J S (0 oy
Hlom SSHdba CplS Jha Iy ) S (b o
PV VR T S TP ST ENILT VRIS P RIS PIOIPE
S o5 g same e R Uls 3t DS e Sa
S oall g il ) (b Ay ke (e alad) 5 LS s ALl
50 s e e O S om0 50 S Gl e el
O3S Uiy Selly gl (S S Ry il ae S
mop S8 deals oS a o Sa)m S ol &
A S gley S )

(154 words)
[32 marks]

22
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However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at

least some coverage of both bullet points is evident, students will still have access to full marks where

the other criteria are met. To exemplify this, the following alternative indicative content is provided.

Either

Question
02.1

This is a possible response (indicative content):

2 s ol o S el Gl (e aila
S s e Bl sl o s e S U sl st Sl
Sl Sl 8 alail pala 8 ilie gl S slly S
Do om0 e S8 ) o S S Jle S 2 o
e i sl 2 S Bl UM Qs U 00k e
= Ul (S G

S35 st ude e S5l S cuda 2w )l (el
G o o dse S e o sigmon Sle s a5
=0~ —ene Dbl ve (Sl ey K Ul o e
S Sl s S ol s @ S e S
O sV =2 ol e se B Boen S (e B il S s
s asn Sdan ol S Op e eh S
oy S el Sl sl Al sl £ e
(S 0 ey e 3o R (e g

(154 words)
[32 marks]
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or

Question
02.2

This is a possible response (indicative content):

) e o e 50 03 e e S e 568 | ne
S U o R s o)l S iy ome e
SleS b @i )l O S a2 Ol Sl o
o 2 S omemde 2elh S Aoy
O 0 U 08 (S and ol )8 o 5dle S Gl
oo s 38 e dle S s S S S
JsSl | paa = (ot 23mie S (0 8 Ul ke
Sa JsSud Sda o Ao o S o8 e
il | i Cila Cag Ao |l o 50 Lila
P P s T NS T PX NIy WP R PV VPN
Osanae gre Kl ad B8 s a5l S
G s ke (e pladl 53 L8 Cun Ablie o S
s o o O 5 e 2358 (el G
S o) G GS Gl S S5 G e S Vs
i) il e ox e S maS Sl ol B
=l _—wgsley S

(154 words)
[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical

knowledge of language and structures (6 marks) as specified in the criteria below. The maximum mark
is 12. When awarding the marks the student’s response across the passage should be considered as a

whole.

[12 marks]

Conveying key messages

Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level | Marks | Response

6 6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 _Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The 'Ian'guage produced does not meet the standard required for Level 1
at this tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages

mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Other correct translations will be exemplified in the standardising materials.

| went to play football yesterday and | did not do my homework. Now | cannot visit my uncle’s house
because | have to study. He lives in a village where there is a lot to do. | like to go to the river there.
The farms are beautiful there. | would like to visit them. | am thinking of going next month.

Indicative content

The following indicative content is an example of a response which would be awarded full marks.

LS o (S ps)alS W JsSul sl L L& ) S ileS Jb &8 IS e
o5 = (SIS S5 eme S Sl (3 S Slaa il (e il
bl Lo Oby —ene S S S 58 Ol o) o s o 038
o B Usila US ae (S o)) o U D) e sn S eSS Ol g o A
ol Eom e ek S s by Sy K

Other reasonable alternative translations will also be accepted.

Exemplification of mark scheme

To exemplify the marking criteria for Conveying key messages and Application of grammatical
knowledge of language and structures, a range of exemplar student responses have been provided
below with a commentary.

Student 1

Gl LS G S as IS Sl syl L W8 ) S ileS JL & IS e
e O3S 05 (SS (0 eme SIS S b (g 068 Slan ) e
muu}u)auu}ﬁ:psméc’ﬁuhu;‘uea:"u
AR e B sl U8 e (S O peum D gmmnd S S S (s
;o byges o o Jb Sl (b s

Conveying key messages = 6 marks
Application of grammatical knowledge of language and structures = 6 marks

- A
All key messages are conveyed. The only errors are * ‘—‘.—.‘S/u—’\} " and the omission of 45 "in the
last sentence. It is therefore virtually faultless.
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Student 2

Lo = O e Lo IS ISl g Wi 18 o S i€ Uy &8 S e
Ot oo U R s 2 S8 ST e SIS U s (i seS S
=S R Yy U‘A} Lod Obs e eSS S S (b sl

Uhs e B e B Gala U S o (S o) Gpam e 53 S S

orbogs o b S S

Conveying key messages = 5 marks
Application of grammatical knowledge of language and structures = 4 marks

The message relating to the apprenticeship is not conveyed and there is only a partial message
regarding homework. Overall, therefore, nearly all key messages are conveyed. The inaccuracies, for
Z

example the omission of the verb in the clause about ° ‘SJJ eR uj\s " are such that the response
is generally, rather than highly accurate.

Student 3

) e Dl g S5 S IS sl i S S Jb &b S
oo oo o S8 Sl e SS BSls pd ,S Slaa
éu‘-u—:MU‘A}@‘AUDJCPA:«ASMJSCUSU‘AJJJ‘u:*f
Uhs e B e B Gala US o (S o) Gpen Do 53 Sy S

ol Eoom e )b S Se

Conveying key messages = 4 marks
Application of grammatical knowledge of language and structures = 3 marks

Most key messages are conveyed. ‘playing , doing homework, river, fields ' are unclear or not
communicated. A reasonable knowledge of vocabulary is demonstrated. The response is more accurate
than inaccurate despite the number of errors.
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Student 4

Sl o el WS pd Sosan Sl sl W8 S UK (e
osh o S o 038 s 2 S STy e S S s 58
e e G dld S by o ablla g Los s el S o eaS
= UEse o S Oy e ) O Gl S e (SO

Conveying key messages = 3 marks
Application of grammatical knowledge of language and structures = 2 marks

Some key messages are conveyed as there are issues with ‘playing football, a lot to do in village, fields
are very beautiful, next month . There is a limited knowledge of vocabulary and structures and there are

errors in every sentence, although these do not always affect the communication of required messages.
The piece is generally inaccurate.

Student 5

WSS WS b i 8 Slaa gt LS Gad alS L o S S Jb (e
s e 2 ES G SUS ) pn ) Upeos = 098 P e
= U su Uls Gl (e Ul (S O O By o S S JLsaiily

Conveying key messages = 2 marks
Application of grammatical knowledge of language and structures = 2 marks

Few key messages are conveyed and there is a limited knowledge of vocabulary and structures. There

are omissions and many misspellings. The piece is generally inaccurate.

Student 6

5 e S U la 3 R (e i SIS ISl ol Leills 8 S (e
Ula e @S ) p A e @S S8 o S ome- 03 S
U s e Ol (L - 2

Conveying key messages = 1 mark
Application of grammatical knowledge of language and structures = 1 mark

Very few messages are communicated - mainly in the first sentence and the ‘homework’ idea. The
response is highly inaccurate.
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